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global g L. M

g=10; L=1; M=1;

tspan=[0 5];

thetal=pi/2; thetadot0=0;

z0=[thetal thetadot0]; .
options:odeset(’AbsTol',le—12,’RelTol’,le—lZ);

[t,z]:ode45(‘deriv43',tspan,zo,options);

theta=z(:,1); thetadot=z(:,2); function zdot=deriv43l(t,z)

tension=M*g*cos (theta)+M*L*thetadot."2; global g L M
max (tension)

theta=z(1l); alpha=z(2});
plot(t, theta)
hold on thetadeot=alpha;
plot(t, thetadot, '==") alphadot=(-g/L) *sin(theta) ;
plot(t, tension, " :") zdot=[thetadot alphadot]~’;
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Note * ® Maximum tension is independent
o string lemgth, @ The max.tension
cary be made closer to 30N by decreasing.

the integration folerance, @ Using singxQ
get T=1.986%s (cf T=234523 above),
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